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Addition two/three numbers up to 10000 #8

3714 4 6068 =

4054 4 8296 + 3430 =
7985 + 7424 4 6397 =
9390 + 3149 =

8522 + 6679 + 7771 =
1591 + 1033 + 6330 =
5544 + 3840 + 1409 =
8467 + 3406 =

8006 + 3176 + 2428 =
4680 + 9131 + 5844 =
9851 + 1599 + 8713 =
5849 + 8104 =

5828 + 8662 =

5639 + 3995 =

6937 + 4174 4+ 6175 =
6830 4 2871 =

4915 4 1908 + 216 =
5600 + 2787 =

6719 + 9240 =

9642 4 1146 =
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Addition two/three numbers up to 10000 #8 (Solutions)

3714 4+ 6068 = 9782

4054 + 8296 + 3430 = 15780
7985 + 7424 + 6397 = 21806
9390 + 3149 = 12539

8522 + 6679 + 7771 = 22972
1591 + 1033 + 6330 = 8954
5544 + 3840 + 1409 = 10793
8467 + 3406 = 11873

8006 + 3176 + 2428 = 13610
4680 + 9131 + 5844 = 19655
9851 + 1599 + 8713 = 20163
5849 + 8104 = 13953

5328 + 8662 = 14490

5639 + 3995 = 9634

6937 44174 + 6175 = 17286
6830 + 2871 = 9701

4915 + 1908 + 216 = 7039
5600 + 2787 = 8387

6719 + 9240 = 15959

9642 + 1146 = 10788



